Scientific Notation Operations
Evaluate and give the answer in scientific notation.

6.69x10" +3x10* 1.12x10° +2x10°
3.6x10° +6x10* 7.002x10° +3x10°
1.28x10” +2x10° 3.35x10'° +5x10°
7.5%x10% +3x10° 3.6x10" +6x10’
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Scientific Notation Operations
Evaluate and give the answer in scientific notation.

6.69x10" =3x10* 1.12x10° =2x10°
—223%10° =0.56x10’
=5.6x10°

3.6x10° ~6x10*
=0.6x10°
—6x10"

7.002x10° +3x10°
=2.334x10’

3.35x10"° +5x10°
1.28%10° +2x10°

=0.67x10"
=0.64x10’ 67%10°
=6.4x10

3.6x10"° +6x10’
7.5%10% +3x10° =0.6x10°
=2.5%10’ =6x10°
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